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1. RERARZALBEHZEH
BEEX A, 5 L8 g L 5 L8 g
T 69 94 163 — 2 K 3 T H 233 281 514
Hy 48 47 95 — Z K 4 T H 247 283 530
T 56 66 122 — 2 K 5 T H 342 393 1735
H 176 211 387 /I i 1,026 | 1,176 2,202
s H 165 197 362 w otk 2 T H 366 425 791
H 458 559 1,017 Wt 3 T H 206 232 438
i 6 8 14 /I i 572 657 1,229
w88 97 185 ZN BT 126 167 293
1,066 | 1,279 2,345 " % 1 T H 94 107 @ 201
EREIL S BT 18 16 34 — B T 69 85 154
(24 B 389 486 875 J\H T ¥ W 149 187 336
i My 223 261 484 Kot 1 T H 57 59 116
s i . 273 291 564 Kot 2 T H 77 95 172
- i Hp 222 267 489 KXo #H 3 T A 116 137 253
it w5 150 164 314 Ko H 4 T A 203 242 445
1,257 | 1,469 2,726 BoO#% 1 T H 176 210 386
i M7 284 339 623 Bo#% 2 T H 183 191 374
US BT 66 80 146 /I 1,250 1,480 2,730
% My 251 328 579 w BT 1 T A 141 194 335
EIEEF2 ff 535 31 66 w W 2 T H 87 109 196
£ w5 596 701 1,297 it A M7 113 134 247
it w5167 214 381 WO 1 7T H 223 273 496
1,399 1,693 3,092 ¥ o4& 2 T H 150 189 339
< M7 175 225 400 ¥ 4% 3 T H 171 160 331
] H 214 232 446 il 5] T 2 3 5
] H 301 372 673 il 1 T H 107 133 240
W 1 ] H 235 295 530 i 2 T H 138 183 326
B BT 33 40 73 il 3 T H 125 165 290
B By 807 982 1,789 it 1,257 | 1,548 2,805
g HE T o — ¥ 80 113 193 il 4 T H 410 512 922
B 1,845 2,259 4,104 - 1 T H 158 194 352
o) | L 6 5 11 - 2 T B 66 77 143
= W o1 T B 197 277 474 - 3 T H 182 235 417
= W 2 T H 137 188 325 - 4 T H 71 87 158
Hm$E2 52 ¥ 3 T H 132 174 306 Sun ¥ 1 T H 148 184 332
k1 T H 100 125 225 it M2 T H 161 174 335
w2 T H 319 444 763 it 1,196 | 1,463 2,659
/I i 891 1,213 2,104 H 1 T H 155 173 328
oW 1 T B 162 219 381 Hh 2 1T H 238 289 527
e "W 2 T H 265 312 577 1= 1 T H 168 197 365
’ oW 3 T H 191 228 419 = 2 T H 138 172 310
/I i 618 759 1,377 & 699 831 1,530
7L 1 T H 554 670 1,224 il — 2 7 9
Hig52 L 2 T H 478 569 1,047 — By 83 159 242
/I 1,032 1,239 2,271 “HEATHO— 24 29 53
T 3 T H 432 506 938 Sun P 195 215 410
HHEH3 4 T H 592 672 1,264 Sun 4 3 T H 295 359 654
it 1,024 1,178 2,202 it 599 769 1,368
e A1 T H 115 121 236
BEAEL K 2 T H 39 98 187 i 15,749 119,029 34,778
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AFN34E12 ) 1 H BIAE
BEEX A, L 5 L8 Al [ERXA L 5 L8 At
fif Lo ¥k 530 546 1,076 | VEAKRES B i BT 25 40 65
(s M7 308 349 657 | A4 K FF BT 31 38 69
fif ﬁ:% ;g § ?Zzll gg? 1,;11; % Br 18,396 20,390 38,786
T i M7 542 588 1,130 — R OB R F 194 186 380
/I &t 2,475 2,650 5,125 | “RH1 — R B JL 143 158 301
X #HE K S My 1,209 1,359 2,568 /I it 337 344 681
MOE A AR BT 4010 448 849 “RET o —# 571 625 1,196
W A 1 T H 95 102 197 | “REF2 — R BT 4 — {4 476 493 969
M A 2 T H 154 173 327 /I & 1,047 1,118 2,165
R 1 M A 3 T H 132 142 274 — R OB X & 245 303 548
- M A 4 T H 137 160 297 — R OB = @ 274 287 561
M A 5 T H 143 159 302 ~H3 CRETIEFEO—F 23 20 43
W A 6 T H 91 97 188 | %M R mr fE 471 531 1,002
/I i 1,153 | 1,281 2,434 T RETWE O — 14 14 28
2 W By 733 791 1,524 /I & 1,027 1,155 2,182
75%[3%2@ M7 420 462 882 CRETIEFEO—F 158 172 330
- H i My, 399 373 772 — R B # 0 311 378 689
/I i 1,552 11,626 3,178 | —R%4 — RLHT 9§ o — # 47 49 96
RS — @, B 456 502 958 —ROHT % oo i 454 478 932
;i% L M7 1,041 1,169 2,210 /I it 970 1,077 2,047
UURP ) i My 158 188 346 . N N
AR e " mf 333 378 71| B o# A X pr 3F 3,381 3,694 7,075
/I at 1,532 11,735 3,267 A % BT m OEl 759 860 1,619
X B M7 317 369 686 |/IMREHL /NMEHT AMWT O —#F 1,185 1,331 2,516
A 1% N M7 224 248 472 /I it 1,944 12,191 4,135
S il My 258 304 562 [/MREE2 /N {% BTS¢ W 1,656 1,816 3,472
/I at 799 921 1,720 INMRETHR S O — ¥ 418 474 892
75 B gy BT 872 938 1,810 |/IMREE3 /N{RETAET O —F5 489 598 1,087
Fif (L BT 64 69 133 /I it 907 1,072 1,979
Rl BT 263 305 568 IMERTFE S O —F8 283 1 303 | 586
WO R BT o — 1 1 2 AINMREETE BP0 —f8 462 360 822
/I B 1,200 1,313 2,513 A % W7 % WM 916 977 1,893
OB & BT 599 699 1,298 MR A A % BT B A 2540 276 530
%7&%2155 Ji BT 98 122 220 ANMRRT R — 2 113 121 234
e 75 o BT oo — 0 1 1 AL =) 8 8 16
/I i 697 822 1,519 AN AR ET B A A I 13 15 28
%1 A A M7 496 | 559 1,055 /I it 2,049 2,060 4,109
il 5 BT 823 912 1,735 g il BT 88 107 195
L2 )R IE BT o — #5033 38 71 | MRS NEETET B o0 — 5 1,515 1,569 | 3,084
/I j 856 950 1,806 /I it 1,603 | 1,676 3,279
% X E 383 gﬂ 1,2?2 R OFR A 3 P &b 8,159 8,815 16,974
s 3 - I . _— .
A fx BT o — EF5 100 106 | 206 |fEIEES1 4 AT S oo — 8 744 819 1,563
hF 811 858 1,669 | fipas2 i & m oo — i 616 671 1,287
WHF1L Hh W 1,117 1,207 12,324 vl BT & = 691 811 1,502
R ¥ BT 300 339 639 |fHEEE3 Wy £ B 346 369 715
th A W7 524 614 1,138 I it 1,037 11,180 2,217
W2 ) i W7 186 215 401 vl BT % BR 460 502 962
o BT > — #2270 250 477 A Gl BT E f& 386 440 826
/N 2 1,237 | 1,418 2,655 il Wy s/ Ak 263 253 516
H LEl B 269 309 578 7N & 1,109 1,195 2,304
g1 = W E 632 8%; 1%8 oW o A 3 P g 3,506 3,865 7,371
s 2t 1,036 | 1,224 2,260
TUAREE 2 | & RE B 460 512 972
PUMBEFE3 R 1 Hy 555 601 1,156
WARFL b g B 460 524 984
M JE By 194 208 402
BARE2 1 BT 45 42 87 w55 F 49,191 55,793 104,984
/)N & 239 250 | 489
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2. EEHITRR
X 5 BATHEH A FEEER \ 2R (%)

il £ ERRITAELLA2TH 109,293 80,678 73.82
il ES £ # B ERRITAELLA2TH 109,293 80,680 73.82
il £ ERRISHE 4H16H 108,645 35,963 33.10
= EES 1k ys #= O OER9E 4H 8H 108,995 61,399 56.33
= #H B & &= & B COFRU9YH 4H 8H 108,995 61,337 56.28
Z i bt ik B (3 2 X)) SERKI9SE TH29H 109,568 65,149 59.46
Z & bt B (fl X)) FER9F TH29H 109,568 65,149 59.46
Kbt B (/22 X)) SERk214E 8H30H 109,072 79,563 72.95
Kbt B (B AR &R ) ERk214E 8A30H 109,072 79,552 72.94
il £ ERR214E11H15H 108,288 72,433 66.89
i} s i 5 B FRR1411A 150 108,288 72,437 66.89
Z i bt ik B (3 2 X)) SERk22%E THI11H 108,917 65,209 59.87
Z % bt B (X)) 2 THILHE 108,917 65,209 59.87
= EES 1k ys H O OERRE 4H10H 108,182 52,735 48.75
= ®H R ¥ &= ¥ B CFpk2’s 4H10AH 108,182 Bl MR
®EPEE B (/R %K) ERR244E12A16H 108,045 66,828 61.85
Kbt B (B AR ER) ERk24%E12H 16H 108,045 66,830 61.85
Z i bt ik B (3 2 X ) SER25HE TH21H 107,848 60,362 55.97
Z &% bt B (X)) s TH21H 107,848 60,361 55.97
il £ ERR254E10H27TH 107,119 65,552 61.20
il ES £ # B ERR254E10H27TH 107,119 65,548 61.19
®EPEE B (/R %K) ERk26412814H 107,458 61,207 56.96
Kbt B (B AR ER) ERk26E12H 14H 107,458 61,203 56.96
= EES 1k ys £ OERRTE 4H12H 106,491 51,445 48.31
= #H B ® &= & B OPRRTHE 4H12H 106,491 51,178 48.06
Z i Pt ik B (% 2 X)) SER28%E THI10H 109,061 63,583 58.30
Z &% bt B (X)) R8s TH10H 109,061 63,584 58.30
®EPEE B (/R %K) ERR29%10H22H 108,198 59,490 54.98
Kbt B (B AR ER) ERK29%E10H 22H 108,198 59,488 54.98
i} £ k29410 H29H 107,512 JiE iy A P
il ES £ # B ERR294E10H29H 107,512 54,975 51.13
= EES 1k ys #OERBIE 4H TH 106,178 39,253 36.97
= ®H R ¥ &= ¥ B CEk314 4H 7H 106,178 o MR
Z i bt ik B (% 2 X ) SFooH TH21H 106,694 54,044 50.65
Z i bt ik B (0 # X ) SFocs TH21H 106,694 54,043 50.65
= 5 2 N i O34 9H12H 104,560 39,285 37.57
Kbt B (/h®EX) SM3410A31H 104,885 63,085 60.15
Kbt B (AR E)D SM3FI0A31H 104,885 63,083 60.14
i} £ SM3410A31H 104,242 R pllEi
i} s i s B Sf3410A31H 104,242 62,241 59.71
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